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for the questions

1. R R o o R vs Soxm A
Sfere ¢ 1x5=5

Find out the correct answer from the
following alternatives in each question :

(@) IR T (Tg
Statistics deals with

(i) BINS SYR FIS
qualitative information
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(2)

(ii) FRANTS SUR TS
quantitative information
(iii) (i) SF (i) TEORI TS
Both (i) and (ii)
(iv) 8°R] «Bre T
None of the above
(b) @& e wbReF B WK TA

The most stable measure of central
tendency is the

() WY¥/mean

(ii) 49N/ median

(iii) 3%/ mode

(iv) ©7"] @518 7= /None of the above

() THAIRR TP A4S AYRTS (R

Scatteredness of a value of the variables
is generally known as

(i) & W
measures of location
(i) FEN 23T T
measures of central tendency
(iii) T
quartile
(iv) Resaq
dispersion
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(3)

(d) O TR (I W AR R @@ Reght 2

The two regression lines always pass
through the point

) X,Y)
(i) (0,0)
(iii) (0, Y)
(iv) (X, 0)
o) TEEA QNF Wl by WF b, T ALITR
QT r 29

If the regression coefficients are b, and
b,, then the correlation coefficient r is

() b /by
(ii) by /b
(iii} bby

(iv) +/b1by

2, @ AR Tey faa : 2x5=10
Answer the following :
(o) IS SYPTRR @NE TERR B R
TrrAerR, for |

What are the scales used for measuring
qualitative data? Illustrate with
examples.

(b) <O e T 2R TorE aFEEEE e

What are the characteristics of a good
measure of central tendency?
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(4)

(€ y=a+bx+cx? famre IRFEG! wFgH R
IR PTG FANFIRILG! 0 1

Write down the normal equations for

fitting of the second degree parabola

y=a+bx+cx?.

(d) Il PIEReR SToTFE @R AR B |

Define Karl Pearson’s coefficient of
correlation.

e W@ wmR, (AB)=150, (AB)=230,
(B) =260, (@f) = 2340, ST IRTROPHZ
WF NI T e |

Given that (AB)=150, (AB) =230,
{@B) =260, (af) =2340. Find the other
frequencies and the value of N.

3. (o) =S fAIRT T A 3x3=9
Explain the following :
(i) R i e ofen
Statistical population and sample
(ii) SEICPHT AF TYATSTHF 9

Interval and ratio scales of
measurement

(iii) =03 Toal Sorgrem

Diagrammatic representation of
data
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(5)

5 /Or

(b) T RAT el A ARFRANREER R
gFel IR T I e RIwdR oo
MRzt o 6+3=9
Give three important applications of

Statistics in present-day world. Also
write three limitations of the subject.

4. (a) THREA Vg, TN AT ITRI F@ o
gt IMTFR SrEd T AN FM A
FNIER MR R TR THARARFY SR ISR
A 6+2+2=10
Define arithmetic mean, median and
mode. Write the uses of them. Prove
that algebraic sum of deviations of a set
of values from arithmetic mean is zero.

4 /Or

) Rewera Terz & R 2 @b et Resoms R
T REprE Sum w9 Reww @
oo o W I R W2 6% Reew e
T REeR ToE A4 ANLIPTER WA 0
s PR B @2 TR W @S
CTE 2| ? 2+2+1+2+1+2=10
What are the measures of dispersion?

Mention the chief characteristics for
an ideal measure of dispersion. Which
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(6)

measure of dispersion is considered as
ideal measure of dispersion? Explain
the main difference between mean
deviation and standard deviation. What
is meant by skewness? How is it
measured?

5. (a) (i) W TG IR AT R KR
B o ¥ A 1<y <1, TS
Iyy (X% FIGRGTR 72T QT | IS
E YIYF TR QNI (TS AT
e | 2+4+2=8

Define Spearman’s formula for the
rank correlation coefficient. If ryy,
is the Pearsonian correlation
coefficient, then prove that
~1<ryy £1. Distinguish between
positive and negative correlation
coefficient.

(i) ST TETE BN T oy | 2
Define partial correlation coefficient.

e /Or

(b) TN TR FERT QN WOM am
3x+2y-26=0 |F 6x+y-31=0. Y3
@S XTI ¥ XTI /S VI WApRd (=)
@ Bl T W y3 T, P e
BIRF AE F2TFH BN TG 1 4+24942=10
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(7)

Two random variables have the
regression lines with  equation
3x+2y-26=0 and 6x+y-31=0.
Determine the regression lines of Y on X
and X on Y. Find the mean values,
two regression coefficients and the
correlation coefficient between x and y.

6. (a) T ¥ FA FNE TN WF YIAE
AN W2 TR AN BNF HAF ST
NI 7@ 3+3=6
When are two attributes said to be
positively associated and negatively
associated? Define Yule’s coefficient of
association and the coefficient of
colligation.

1T /Or

(b) AN LNF Q AF ST ST Y IR
fafiRe Teach afes = : 6
Establish the following relation between

coefficient of association Q and the
coefficient of colligation Y :

2y
Q=
1+Y2

* K K
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